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p == init(R) initialization, with a point in R
translation(u,v) translation by vector (u,v)

rotation(u,v,0)  rotation defined by center (u,v) and angle 0
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{p}or{p} choice (the branch taken is non-deterministic)
iter{p} iteration (the number of iterations is non-deterministic)
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[init(R)JA = R
[translation(u,v)]A = {trans(p, (u,v))|pe€ A}
[rotation(u,v,0)]A = {rotate(p, (u,v,0))|pec A}

91014 trans9} rotatel= 01| ATk HsHA. Lol 495 Aolstat.
o the m2 I3 po] o) [p|AS §19] H ol ufet #mek:

init({(0,0),(0,1)});
iter{
{
translation(l,0);
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translation(l,1);
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C == skip|store E|C; C|Cor(C
E := n|load| E+E|-E
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2 Val 9 Val
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[E]S

[C2]([¢1]5)
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= {n}
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[[store E]*s
[Cr s Ca)Fs
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{L1,0,1, T}

0
Z
the set of all odd integers

the set of all even integers
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n  mod 2

s#
([EA]#s7) +7 ([E2]*s7)
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